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FUNCTIONS

Single Correct Answer Type

1. If , then find .

Watch Video Solution

f(x) = x5 + 1 f − 1(x)

2. If , then find .

Watch Video Solution

f(x) = x2 − 4x + 4 f − 1(x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aGt0ulCgkMms
https://dl.doubtnut.com/l/_JySbuNnMPGFx


3. If , then find .

Watch Video Solution

f(x) = x4 + 1 f − 1(x)

4. If , then find .

Watch Video Solution

f(x) = x3 + 4 f − 1(x)

5. If , then find .

Watch Video Solution

f(x) = x5 − 3x3 + 1 f( − 1)

6. If , then find .

Watch Video Solution

f(x) = 3x2 − x + 1 f( − 2)

7. If , then find .f(x) = x2 − 2x + 5 f(1)

https://dl.doubtnut.com/l/_3hoJQXWzQNvz
https://dl.doubtnut.com/l/_EwCAFKmmCJZ3
https://dl.doubtnut.com/l/_6KPbRnqwLEPk
https://dl.doubtnut.com/l/_1QHpMafWnkDl
https://dl.doubtnut.com/l/_9jHbHpukrKdI


Watch Video Solution

8. If , then find 

Watch Video Solution

f(x) = 3x4 − 5x3 + 7 f( − 1)

9. If , then find 

Watch Video Solution

f(x) = x2 − 5x + 3 f(x + 1)

10. If , then find 

Watch Video Solution

f(x) = 3x2 + 2x + 1 f(x − 1)

11. If , then find 

Watch Video Solution

f(x) = 3x2 − 5x + 7 f(x − 1)

https://dl.doubtnut.com/l/_9jHbHpukrKdI
https://dl.doubtnut.com/l/_IbCxKrACfQAu
https://dl.doubtnut.com/l/_E5XXWYEFrLQY
https://dl.doubtnut.com/l/_YTAMeBHHirtS
https://dl.doubtnut.com/l/_MOLYdcjgwk3z
https://dl.doubtnut.com/l/_XjWde5125ldm


12. If , then find .

Watch Video Solution

f(x) = x2 − 6 f − 1(x)

13. If , then find 

Watch Video Solution

f(x) = x2 + 3 f − 1(x)

14. If , then find 

Watch Video Solution

f(x) = x2 + 2x + 1 f − 1(x)

15. If , then find .

Watch Video Solution

f(x) = 5x2 f − 1(x)

16. If , then find f(x) = x2 − 3x + 1 f( − 2)

https://dl.doubtnut.com/l/_XjWde5125ldm
https://dl.doubtnut.com/l/_ri1t47oMPaL8
https://dl.doubtnut.com/l/_EVm5csd6wX3t
https://dl.doubtnut.com/l/_VBfnroJrCpJu
https://dl.doubtnut.com/l/_ypAX2lys70cP


Watch Video Solution

17. If , then find .

Watch Video Solution

f(x) = x2 − 3x + 1 f(1)

18. If , then find .

Watch Video Solution

f(x) = x3 − 4x + 1 f(0)

19. If , then find .

Watch Video Solution

f(x) = (x − 1)2 − x + 1 f(0)

20. If , then find .

Watch Video Solution

f(x) = x2 − 3x + 1 f(0)

https://dl.doubtnut.com/l/_ypAX2lys70cP
https://dl.doubtnut.com/l/_uWfWdVkcmon5
https://dl.doubtnut.com/l/_u8kYMYkdWmLZ
https://dl.doubtnut.com/l/_Yd4Rzz2oxDYq
https://dl.doubtnut.com/l/_UGxyaj0hrmVg
https://dl.doubtnut.com/l/_HAKrGDMqW1ax


21. Period of  (where[] denotes the

greatest integer function), is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f(x) = sin 3x cos[3x] − cos 3x sin[3x]

1/6

2/3

5/6

1/3

22. What is the fundamental period of 

A. 

B. 

C. 

D. 

f(x) =
sinx + sin 3x

cos x + cos 3x

π/2

π

2π

3π

https://dl.doubtnut.com/l/_HAKrGDMqW1ax
https://dl.doubtnut.com/l/_pU967iMef9v1


Answer: B

Watch Video Solution

23. If  is a function satisfying the property 

 than  is

A. periodic with period 3

B. periodic with period 4

C. non periodic

D. periodic with period 5

Answer: B

Watch Video Solution

f :R → R

f(x + 1) + f(x + 3) = 2  for allx ∈ R f

24. Period of is equal to (where [.] denotes

greatest integer function

f(x) = sgn([x] + [ − x])

https://dl.doubtnut.com/l/_pU967iMef9v1
https://dl.doubtnut.com/l/_vDMArYnpgU7d
https://dl.doubtnut.com/l/_T5RlRK6Doqaq


A. 1

B. 2

C. 3

D. does not exist

Answer: A

Watch Video Solution

25. If  are even and odd extensions of the functions 

, where ,

is where  respectively to the ars interval  then 

in  is

A. 

B. 

C. 

D. 

F (x) and G(x)

f(x) = x|x| + sin|x| + xex x ∈ (0, 1), g(x) = cos|x| + x2 − x

x ∈ (0, 1) ( − 1, 0)

F (x) + G(x) ( − 1, 0)

sinx + cos x + xe−x

−(sinx + cos x + xe−x)

−(sinx + cos x + x + xe−x)

−(sinx + cos x + x2 + xe−x)

https://dl.doubtnut.com/l/_T5RlRK6Doqaq
https://dl.doubtnut.com/l/_8HUbnXbEqK6G


Answer: C

View Text Solution

26. Let  be a polynomial with

real coefficients. If , then the minimum-

number of distinct real zeroes of  is

A. 5

B. 6

C. 7

D. 8

Answer: A

Watch Video Solution

P (x) = x10 + a2x
8 + a3x

6 + a4x
4 + a5x

2

P (1) = 1 and P (2) = − 5

P (x)

https://dl.doubtnut.com/l/_8HUbnXbEqK6G
https://dl.doubtnut.com/l/_rnWmQTZPiksT


27. Let  be defined as 

 If f(x) is surjective then k =

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :R → [1, ∞)

f(x) = log10(√3x2 − 4x + k + 1 + 10)

k =
1

3

k <
1

3

k >
1

3

k = 1

28. about to only mathematics

A. injective but not surjective

B. injective as well as surjective

C. neither injective nor surjective

D. surjective but injective

https://dl.doubtnut.com/l/_N4IXEE0Zh5Qj
https://dl.doubtnut.com/l/_BuNgLMSFG2vv


Answer: B

View Text Solution

29. about to only mathematics

A. a bijection

B. one-one but not onto

C. onto but not one-one

D. neither one-one nor onto

Answer: A

View Text Solution

30.  is

A. one-one and onto

f :R → R  defined by f(x) = x|x| + cos + 1
1

2

https://dl.doubtnut.com/l/_BuNgLMSFG2vv
https://dl.doubtnut.com/l/_h3iwyL4AWXdk
https://dl.doubtnut.com/l/_Yt9vbd0e3AXV


B. one-one and into

C. many-one and onto

D. many-one and into

Answer: A

View Text Solution

31. about to only mathematics

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

[1, 4]

[ − 2, 3]

(0, 3]

[2, 5}

https://dl.doubtnut.com/l/_Yt9vbd0e3AXV
https://dl.doubtnut.com/l/_qar9O2ArCi7P
https://dl.doubtnut.com/l/_JsTp67qwYWyq


32. Let  defined as  Then

the smallest integral value of  such that,  is into function is

A. 2

B. 4

C. 6

D. 8

Answer: B

View Text Solution

f :R → (0, ]
2π

3
f(x) = cot − 1(x2 − 4x + α)

α f(x)

33. about to only mathematics

A. many-one and onto

B. many-one and into

C. one-one and onto

D. one-one and into

https://dl.doubtnut.com/l/_JsTp67qwYWyq
https://dl.doubtnut.com/l/_KbtbqC7uGy07


Answer: B

View Text Solution

34. Which of the following statements are incorrect?
 . If 
 and 

are one-one then
 
 is also one-one.
 . If 
 and 
 are

one-one then
 
 is also one-one.
 . If 
 is odd then it is

necessarily one-one?
 
 
 
 d. 

A. I and II only

B. II and III only

C. III and I only

D. I, II and III

Answer: D

Watch Video Solution

I f(x) g(x)

f(x) + g(x) II f(x) g(x)

f(x)
.

g(x) III f(x)

IandIIonly b. IIandIIIonly c. IIIandIonly

I, IIandIII

https://dl.doubtnut.com/l/_KbtbqC7uGy07
https://dl.doubtnut.com/l/_vIyqKHD6nUPP
https://dl.doubtnut.com/l/_FHNOmBzpxR1d


35. Which of the following functions is one-one ?
  defined as


  defined by 


  defined by 

A.  denined as 

B.  defined by 

C. 

D. 

Answer: C

View Text Solution

(1)f :R → R

f(x) = esgnx + ex
2

(2)f : [ − 1, ∞) → (0, ∞)

f(x) = ex
2 + |x | (3)f : [3, 4] → [4, 6]

f(x) = |x − 1| + |x − 2| + |x − 3| + x − 4∣

(4)f(x) = √ln(cos(sinx))

f :R → R f(x) = dsgn x + dx
2

f : [ − 1, ∞) → (0, ∞) f(x) = ex
2 + |x |

f : [3, 4] → [4, 6]  defined by f(x) = |x − 1| + |x − 2| + |x − 3| + |x

f(x) = √ln(cos(sinx))

36. about to only mathematics

https://dl.doubtnut.com/l/_FHNOmBzpxR1d
https://dl.doubtnut.com/l/_KaSurBOqokzB


A. 

B. 

C. 1

D. 100

Answer: D

View Text Solution

−1

0

37. If 
 and 
 be two real

functions, then the range of 
for which 
has no real solution

is
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

f(x) = x2 + x +
3

4
g(x) = x2 + ax + 1

a g(f(x)) = 0

( − ∞, − 2) ( − 2, 2) ( − 2, ∞) (2, ∞)

( − ∞, − 2)

( − 2, 2)

( − 2, ∞)

(2, ∞)

https://dl.doubtnut.com/l/_KaSurBOqokzB
https://dl.doubtnut.com/l/_MNqtv5wiAAMz


Answer: C

Watch Video Solution

38. If domain of  is [1, 3], then the domain of  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) f(log2(x
2 + 3x − 2))

[ − 5, − 4] ∪ [1, 2]

[ − 13, − 2] ∪ [ , 5]
3

5

[4, 1] ∪ [2, 7]

[ − 3, 2]

39. Let  Let S be the set of all real

numbers r , such that f(g(x))=g(f(x)) for infinitely many real numbers x. The

number of elements in set S is

f(x) =  and g(x) = .
x

1 + x

rx

1 − x

https://dl.doubtnut.com/l/_MNqtv5wiAAMz
https://dl.doubtnut.com/l/_MqHzcK86b9y5
https://dl.doubtnut.com/l/_BL7ywX4Cvtfu


A. 1

B. 2

C. 3

D. 5

Answer: B

View Text Solution

40. Let . Then the , provided that : 

A. 

B. 

C. 

D. 

Answer: A

f(x) =
ax + b

cx + d
fof(x) = x

(a ≠ 0, b ≠ 0, c ≠ 0, d ≠ 0)

d = − a

d = a

a = b = 1

a = b = c = d = 1,

https://dl.doubtnut.com/l/_BL7ywX4Cvtfu
https://dl.doubtnut.com/l/_uGRZBMKHgqxm


Watch Video Solution

41. If  , ,and , , then 

 equals

A. 2

B. 3

C. 

D. 

Answer: A

Watch Video Solution

f :R → R f(x) = x3 + 3 g :R → R g(x) = 2x + 1

f − 1(g− 1(23))

(14)1 / 3

(15)1 / 3

42. If 
 is a function from 

then 
 is a. null set
 b. 
 c. 
 d. a set

containing 3 elements

f(x) = x(x − 1) [ , ∞) → [ − , ∞),
1
2

1

4

{x ∈ r : f − 1(x) = f(x)} {0, 2} {2}

https://dl.doubtnut.com/l/_uGRZBMKHgqxm
https://dl.doubtnut.com/l/_PsGF7yElb79E
https://dl.doubtnut.com/l/_CqTIOkt2Tr8V


A. null set

B. 

C. 

D. a set containing 3 elements

Answer: C

View Text Solution

{0, 2}

{2}

43. Let  be a real number and  If  is

the inverse function of f and b and c are real numbers then  is

equal to

A. 

B. 

C. 

D. 

a > 1 f(x) = loga x
2  for x > 0. f − 1

f − 1(b + c)

f − 1(b). f − 1(c)

f − 1(b) + f − 1(c)

1

f(b + c)

1

f − 1(b) + f − 1(c)

https://dl.doubtnut.com/l/_CqTIOkt2Tr8V
https://dl.doubtnut.com/l/_SpPWDfwRe8OZ


Answer: A

Watch Video Solution

44. If the function  if  ,  if  and 

 if ,  then the number of

roots of the equation 

A. 4

B. 3

C. 2

D. 1

Answer: C

View Text Solution

f(x) = {x + 1 x ≤ 1 2x + 1 1 < x ≤ 2

g(x) = {x2 −1 ≤ x ≤ 2 x + 2 if 2 ≤ x ≤ 3

f(g(x)) = 2

https://dl.doubtnut.com/l/_SpPWDfwRe8OZ
https://dl.doubtnut.com/l/_R9S2h6b2GzTu


45. Suppose 
are positive

integers. If 
then which of the following is not

true?
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f(x) = ax + bandg(x) = bx + a, whereaandb

f(g(20)) − g(f(20)) = 28,

a = 15 a = 6 b = 14 b = 3

a = 15

a = 6

b = 14

b = 3

46. If 
 is an invertible function and 
 then the

value of 
 (a) 
 (b) 
 
 (d) 

A. 

f(x) g(x) = 2f(x) + 5,

g− 1(x)is 2f − 1(x) − 5
1

2f − 1(x) + 5
f − 1(x) + 5

1

2

f − 1( )
x − 5

2

2f − 1(x) − 5

https://dl.doubtnut.com/l/_sZKmDdiaWvQ0
https://dl.doubtnut.com/l/_XKiCBz2PYh75


B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2f − 1(x) + 5

f − 1(x) + 5
1

2

f − 1( )
x − 5

2

47. If  of 

 is

A. 0

B. 2

C. 3

D. 4

Answer: D

i l i

f(x) =

⎧⎪
⎨
⎪⎩

−x + 1, x ≤ 0

,then the number of solutions

−(x − 1)
2
, x ≥ 1

f(x) − f − 1(x) = 0

https://dl.doubtnut.com/l/_XKiCBz2PYh75
https://dl.doubtnut.com/l/_HqKFsyIQXiM1


View Text Solution

48. about to only mathematics

A. 

B. 0

C. 1

D. none of these

Answer: B

View Text Solution

−1

49. If  then 

 (A) 7 (B) 8 (C) 9 (D) 10

A. 7

B. 8

f(x2 − 6x + 6) + f(x2 − 4x + 4) = 2x, ∀x ∈ R

f( − 3) + f(9) − 5f(1) = ?

https://dl.doubtnut.com/l/_HqKFsyIQXiM1
https://dl.doubtnut.com/l/_4VsOPgNVyw0I
https://dl.doubtnut.com/l/_uxTDnd7bpPxh


C. 9

D. 10

Answer: C

Watch Video Solution

50. about to only mathematics

A. 1

B. 3

C. 

D. none of these

Answer: C

View Text Solution

−1

https://dl.doubtnut.com/l/_uxTDnd7bpPxh
https://dl.doubtnut.com/l/_oTTUdn0TpY5H


51. If 
is a function satisfying 
for all  in 

and , then  is
a. 
b. 
c. 
d. 0

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :R → R f(x + y) = f(xy) x, y R

f( ) =
3

4

3

4
f( )

9

16

3

4

9

16

√3

2

3

4

9

16

√3

2

0

52. A function  satisfy the equation 

for all  and , then

A. 

B. 

C. 

f :R → R f(x)f(y) − f(xy) = x + y

x, y ∈ R f(y) > 0

f(x)f − 1(x) = x2 − 4

f(x)f − 1(x) = x2 − 6

f(x)f − 1(x) = x2 − 1

https://dl.doubtnut.com/l/_yusMOSvFIQpi
https://dl.doubtnut.com/l/_QFqUejjyS13o


D. none of these

Answer: C

Watch Video Solution

53. Let f be a function defined from  If 

for all positive numbers x and y, If  find =?

A. 20

B. 30

C. 5

D. 40

Answer: B

Watch Video Solution

R+ → R+ . (f(xy))2 = x(f(y))2

f(2) = 6, f(50)

https://dl.doubtnut.com/l/_QFqUejjyS13o
https://dl.doubtnut.com/l/_c9BA0HHyKG6s


54. Suppose 
 is a real function satisfying


 Then the value of 
 is 
 
 


A. 16

B. 64

C. 4

D. 44

Answer: B

Watch Video Solution

f

f(x + f(x)) = 4f(x)andf(1) = 4. f(21) 16 21 64

105

55. The graph of a function 
 is shown in the following figure.
 If 


 then lest

integral value of 
is equal to
a. b. c. d.

A. 13

y = g(x)

f(x) = − 3x2 − kx − 12, k ∈ Randf(g(x)) > 0 ∀x ∈ R

k

https://dl.doubtnut.com/l/_j7o8xy5nQEQp
https://dl.doubtnut.com/l/_RSeHIxVs1h1o


B. 14

C. 15

D. 16

Answer: C

View Text Solution

56. Let 
 be a function 
 is set of integers 
 such that 


 then
 
 b. 
 c. 


d. 
is many one function

A. 

B. 

C. 

D. f is many -one function

Answer: C

f : I
→
I (I )

f(0) = 1, f(f(n) = f(f(n + 2) + 2) = n. f(3) = 0 f(2) = 0

f(3 = − 2) f

f(3) = 0

f(2) = 0

f(3) = − 2

https://dl.doubtnut.com/l/_RSeHIxVs1h1o
https://dl.doubtnut.com/l/_vqMHDYYFFrU3


Multiple Correct Answers Type

View Text Solution

1. If , then find 

Watch Video Solution

f(x) = 3x2 − x + 1 f( − 1)

2. If , then find 

Watch Video Solution

f(x) = x2 − 2x + 1 f(1)

3. If , then find 

Watch Video Solution

f(x) = x2 − 3x + 1 f( )
1

2

https://dl.doubtnut.com/l/_vqMHDYYFFrU3
https://dl.doubtnut.com/l/_WO3ZIkhTiYME
https://dl.doubtnut.com/l/_pOjLRXCsNhrh
https://dl.doubtnut.com/l/_zMdKE97KIDVf


4. The function 'g' defined by

 where {x} denotes the

functional part function is

A. an even function

B. a periodic function

C. an odd function

D. neither even nor odd

Answer: A::B

View Text Solution

g(x) = sin(sin− 1{√x} + cos(sin− 1{√x}) − 1

5. Let f be a differential function such that  and 

 then (1) g(x) is an odd function (2) g(x) is an even

function (3) graph of f(x) is symmetrical about the line x= 1 (4) 

A. g(x) is an odd function

f(x) = f(2 − x)

g(x) = f(1 + x)

f' (1) = 0

https://dl.doubtnut.com/l/_gq0loe5TZ63k
https://dl.doubtnut.com/l/_WEHuiukCuVgJ


B. g(x) is an even function

C. graph of  is symmetrical about the line x = 1

D. 

Answer: B::C::D

Watch Video Solution

f(x)

f' (1) = 0

6. If a differentiable function satisfies

then:

A. f(x) must be polynomial function

B. f(3) = 12

C. f(0) = 0

D. f(x) may not be differentiable

Answer: A::B::C

(x − y)f(x + y) − (x + y)f(x − y) = 2(x2y − y2) ∀x, y ∈ R and f(1) =

https://dl.doubtnut.com/l/_WEHuiukCuVgJ
https://dl.doubtnut.com/l/_CgRqtvMyole7


View Text Solution

7. about to only mathematics

A. f(0) = 0

B. f(0) cannot be determined

C. k = 2

D. k cannot be determined

Answer: A::C

View Text Solution

8. Suppose that  and  then which of the

following is true

A. 

B. 

f(x)f(f(x)) = 1 f(1000) = 999

f(500) =
1

500

f(199) =
1

199

https://dl.doubtnut.com/l/_CgRqtvMyole7
https://dl.doubtnut.com/l/_3xjY6tW3MAJg
https://dl.doubtnut.com/l/_PkIgFv0ZvRgA


C. 

D. 

Answer: A::B

View Text Solution

f(x) = ∀x ∈ R − {0}
1

x

f(1999) =
1

1999

9. If graph of a function  which is defined in [-1, 4] is shown in the

following figure then identify the correct statement(s). 

A. domain of  is 

B. range of  is 

f(x)

f(|x| − 1) [ − 5, 5]

f(|x| + 1) [0, 2]

https://dl.doubtnut.com/l/_PkIgFv0ZvRgA
https://dl.doubtnut.com/l/_3W9INLtCJcOE


Comprehension Type

C. range of  is 

D. domain of 

Answer: A::B::C

View Text Solution

f( − |x|) [ − 1, 0]

f[ − 3, 3]

1. Let , where a

is the largest real number for which f(x) is bijective. 

If , then range of values of k for which equation  has

4 distinct real roots is

A. 

B. 

C. 

D. 

f(x) = x2 − 2x − 1 ∀x ∈ R. Letf : ( − ∞, a] → [b, ∞)

f :R → R f(|x|) = k

−9/4

−5/4

−2

−1

https://dl.doubtnut.com/l/_3W9INLtCJcOE
https://dl.doubtnut.com/l/_tAUB6RVNBlLw


Answer: C

View Text Solution

2. Let , where a

is the largest real number for which f(x) is bijective. 

If , then range of values of k for which equation  has

4 distinct real roots is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

f(x) = x2 − 2x − 1 ∀x ∈ R. Letf : ( − ∞, a] → [b, ∞)

f :R → R f(|x|) = k

1 + √x + 2

1 − √x + 3

1 − √x + 2

1 + √x + 3

https://dl.doubtnut.com/l/_tAUB6RVNBlLw
https://dl.doubtnut.com/l/_zABY9DJJqKrb


3. Let  Let , where a is

the largest real number for which f(x) is bijective. If  , 

 , then the least value of function  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

f(x) = x2 − 2x − 1 ∀ξnR f : ( − ∞, a] → [b, ∞)

f :R → R

g(x) = f(x) + 3x − 1 y = g(|x|)

( − 2, − 1)

( − 2, 0)

( − 1, 0)

(0, 1)

4. Consider a differentiable  for which 

 


The value of f(2) is

A. 16

f :R → R

f(1) = 2 and f(x + y) = 2xf(y) + 4yf(x) ∀x, y ∈ R.

https://dl.doubtnut.com/l/_t6LFhEnrf0Yp
https://dl.doubtnut.com/l/_JOaLnYoy7AFI


B. 12

C. 20

D. none of these

Answer: B

Watch Video Solution

5. Consider a differentiable  for which 

 


The minimum value of  is

A. 

B. 

C. 

D. none of these

Answer: C

f :R → R

f(1) = 2 and f(x + y) = 2xf(y) + 4yf(x) ∀x, y ∈ R.

f(x)

1

−
1

2

−
1

4

https://dl.doubtnut.com/l/_JOaLnYoy7AFI
https://dl.doubtnut.com/l/_IbL4b0RUe24r


Watch Video Solution

6. Let 
 be real valued and differentiable function on 
 such that


 
is equals
a. b. c. d. none of these

A. 1

B. 0

C. 

D. none of these

Answer: B

View Text Solution

f(x) R

f(x + y) =
f(x) + f(y)

1 − f(x)
.

f(y)
f(0)

−1

7. Let 
 be real valued and differentiable function on 
 such that


 
is equals
a. b. c. d. none of these

A. odd function

f(x) R

f(x + y) =
f(x) + f(y)

1 − f(x)
.

f(y)
f(0)

https://dl.doubtnut.com/l/_IbL4b0RUe24r
https://dl.doubtnut.com/l/_PS5djh0DYKF0
https://dl.doubtnut.com/l/_uToXOQCjEoll


B. even function

C. odd and even function simultaneously

D. neither even nor odd

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_uToXOQCjEoll

